
1-6 83 67 50 33 17 0

1) 4 × 0.52 =

2) 3 × 0.7 =

3) 3 × 0.50 =

4) 2 × 0.2 =

5) 3 × 0.7 =

6) 2 × 0.6 =

1.
208⁄100 = 2.08

2.
21⁄10 = 2.1

3.
150⁄100 = 1.5

4.
4⁄10 = 0.4

5.
21⁄10 = 2.1

6.
12⁄10 = 1.2

     

Use the visual model to solve each problem.
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Math www.CommonCoreSheets.com

Name:

Answers

1



Answer Key

1-6 83 67 50 33 17 0

1) 4 × 0.52 =

2) 3 × 0.7 =

3) 3 × 0.50 =

4) 2 × 0.2 =

5) 3 × 0.7 =

6) 2 × 0.6 =

1.
208⁄100 = 2.08

2.
21⁄10 = 2.1

3.
150⁄100 = 1.5

4.
4⁄10 = 0.4

5.
21⁄10 = 2.1

6.
12⁄10 = 1.2

     

Use the visual model to solve each problem.
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1) 3 × 0.7 =

2) 4 × 0.11 =

3) 3 × 0.9 =

4) 4 × 0.8 =

5) 4 × 0.24 =

6) 2 × 0.83 =

1.
21⁄10 = 2.1

2.
44⁄100 = 0.44

3.
27⁄10 = 2.7

4.
32⁄10 = 3.2

5.
96⁄100 = 0.96

6.
166⁄100 = 1.66

     

Use the visual model to solve each problem.
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1) 3 × 0.7 =

2) 4 × 0.11 =

3) 3 × 0.9 =

4) 4 × 0.8 =

5) 4 × 0.24 =

6) 2 × 0.83 =

1.
21⁄10 = 2.1

2.
44⁄100 = 0.44

3.
27⁄10 = 2.7

4.
32⁄10 = 3.2

5.
96⁄100 = 0.96

6.
166⁄100 = 1.66

     

Use the visual model to solve each problem.
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1) 4 × 0.23 =

2) 2 × 0.93 =

3) 2 × 0.5 =

4) 2 × 0.7 =

5) 3 × 0.50 =

6) 3 × 0.7 =

1.
92⁄100 = 0.92

2.
186⁄100 = 1.86

3.
10⁄10 = 1

4.
14⁄10 = 1.4

5.
150⁄100 = 1.5

6.
21⁄10 = 2.1

     

Use the visual model to solve each problem.
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1) 4 × 0.23 =

2) 2 × 0.93 =

3) 2 × 0.5 =

4) 2 × 0.7 =

5) 3 × 0.50 =

6) 3 × 0.7 =

1.
92⁄100 = 0.92

2.
186⁄100 = 1.86

3.
10⁄10 = 1

4.
14⁄10 = 1.4

5.
150⁄100 = 1.5

6.
21⁄10 = 2.1

     

Use the visual model to solve each problem.
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1) 4 × 0.45 =

2) 3 × 0.7 =

3) 3 × 0.7 =

4) 4 × 0.6 =

5) 3 × 0.29 =

6) 3 × 0.5 =

1.
180⁄100 = 1.8

2.
21⁄10 = 2.1

3.
21⁄10 = 2.1

4.
24⁄10 = 2.4

5.
87⁄100 = 0.87

6.
15⁄10 = 1.5

     

Use the visual model to solve each problem.
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1) 4 × 0.45 =

2) 3 × 0.7 =

3) 3 × 0.7 =

4) 4 × 0.6 =

5) 3 × 0.29 =

6) 3 × 0.5 =

1.
180⁄100 = 1.8

2.
21⁄10 = 2.1

3.
21⁄10 = 2.1

4.
24⁄10 = 2.4

5.
87⁄100 = 0.87

6.
15⁄10 = 1.5

     

Use the visual model to solve each problem.
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1) 2 × 0.97 =

2) 4 × 0.40 =

3) 2 × 0.6 =

4) 2 × 0.32 =

5) 4 × 0.81 =

6) 3 × 0.8 =

1.
194⁄100 = 1.94

2.
160⁄100 = 1.6

3.
12⁄10 = 1.2

4.
64⁄100 = 0.64

5.
324⁄100 = 3.24

6.
24⁄10 = 2.4

     

Use the visual model to solve each problem.
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1) 2 × 0.97 =

2) 4 × 0.40 =

3) 2 × 0.6 =

4) 2 × 0.32 =

5) 4 × 0.81 =

6) 3 × 0.8 =

1.
194⁄100 = 1.94

2.
160⁄100 = 1.6

3.
12⁄10 = 1.2

4.
64⁄100 = 0.64

5.
324⁄100 = 3.24

6.
24⁄10 = 2.4

     

Use the visual model to solve each problem.
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1) 2 × 0.81 =

2) 3 × 0.7 =

3) 4 × 0.1 =

4) 2 × 0.15 =

5) 3 × 0.9 =

6) 4 × 0.72 =

1.
162⁄100 = 1.62

2.
21⁄10 = 2.1

3.
4⁄10 = 0.4

4.
30⁄100 = 0.3

5.
27⁄10 = 2.7

6.
288⁄100 = 2.88

     

Use the visual model to solve each problem.
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1) 2 × 0.81 =

2) 3 × 0.7 =

3) 4 × 0.1 =

4) 2 × 0.15 =

5) 3 × 0.9 =

6) 4 × 0.72 =

1.
162⁄100 = 1.62

2.
21⁄10 = 2.1

3.
4⁄10 = 0.4

4.
30⁄100 = 0.3

5.
27⁄10 = 2.7

6.
288⁄100 = 2.88

     

Use the visual model to solve each problem.

Multiplying Decimals (Visually)

Math www.CommonCoreSheets.com

Name:

Answers

6



1-6 83 67 50 33 17 0

1) 4 × 0.13 =

2) 3 × 0.82 =

3) 3 × 0.56 =

4) 2 × 0.1 =

5) 4 × 0.8 =

6) 2 × 0.95 =

1.
52⁄100 = 0.52

2.
246⁄100 = 2.46

3.
168⁄100 = 1.68

4.
2⁄10 = 0.2

5.
32⁄10 = 3.2

6.
190⁄100 = 1.9

     

Use the visual model to solve each problem.
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1) 4 × 0.13 =

2) 3 × 0.82 =

3) 3 × 0.56 =

4) 2 × 0.1 =

5) 4 × 0.8 =

6) 2 × 0.95 =

1.
52⁄100 = 0.52

2.
246⁄100 = 2.46

3.
168⁄100 = 1.68

4.
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5.
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6.
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1) 4 × 0.83 =

2) 2 × 0.4 =

3) 2 × 0.2 =

4) 2 × 0.3 =

5) 2 × 0.35 =

6) 3 × 0.24 =

1.
332⁄100 = 3.32

2.
8⁄10 = 0.8

3.
4⁄10 = 0.4

4.
6⁄10 = 0.6

5.
70⁄100 = 0.7

6.
72⁄100 = 0.72

     

Use the visual model to solve each problem.
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1) 4 × 0.83 =

2) 2 × 0.4 =

3) 2 × 0.2 =

4) 2 × 0.3 =

5) 2 × 0.35 =

6) 3 × 0.24 =

1.
332⁄100 = 3.32

2.
8⁄10 = 0.8

3.
4⁄10 = 0.4

4.
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5.
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6.
72⁄100 = 0.72
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1) 2 × 0.95 =

2) 3 × 0.6 =

3) 4 × 0.27 =

4) 3 × 0.8 =

5) 3 × 0.1 =

6) 2 × 0.46 =

1.
190⁄100 = 1.9

2.
18⁄10 = 1.8

3.
108⁄100 = 1.08

4.
24⁄10 = 2.4

5.
3⁄10 = 0.3

6.
92⁄100 = 0.92

     

Use the visual model to solve each problem.
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1) 2 × 0.95 =

2) 3 × 0.6 =

3) 4 × 0.27 =

4) 3 × 0.8 =

5) 3 × 0.1 =

6) 2 × 0.46 =

1.
190⁄100 = 1.9

2.
18⁄10 = 1.8

3.
108⁄100 = 1.08

4.
24⁄10 = 2.4

5.
3⁄10 = 0.3

6.
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1) 2 × 0.79 =

2) 2 × 0.97 =

3) 4 × 0.9 =

4) 2 × 0.7 =

5) 3 × 0.52 =

6) 3 × 0.9 =

1.
158⁄100 = 1.58

2.
194⁄100 = 1.94

3.
36⁄10 = 3.6

4.
14⁄10 = 1.4

5.
156⁄100 = 1.56

6.
27⁄10 = 2.7

     

Use the visual model to solve each problem.
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1) 2 × 0.79 =

2) 2 × 0.97 =

3) 4 × 0.9 =

4) 2 × 0.7 =

5) 3 × 0.52 =

6) 3 × 0.9 =

1.
158⁄100 = 1.58

2.
194⁄100 = 1.94

3.
36⁄10 = 3.6

4.
14⁄10 = 1.4

5.
156⁄100 = 1.56

6.
27⁄10 = 2.7
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